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U.G. 4th Semester Examination - 2022

PHYSIOLOGY
[PROGRAMME]
Generic Elective Course (GE)

Course Code : PHYSIOL-G-GE-T-4
(Physiology of Nerve and Muscle Cells)

Full Marks : 40 Time : 2%H0urs

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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1. Answer any five questions: 2x5=10
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a) Define Rheobase.
et g A mie |

b) What is T-tubule?
T--iferel fh e

c) What is varicosity?
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d) What is EPSP?
EPSP <I(F Q=72
e) What do you mean by synapse?
TP TS & @R
f)  Write the names of different types of neuroglia.
fafe «aem Weiiamme am @72
g) What is cross bridge?
TG FICF A 2
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2. Answer any two questions: 5%x2=10

- 76 AT TSR 7S ¢

a) State the differences between the skeletal

muscle and cardiac muscle. 5
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b) Classify synapses. Give two examples of
inhibitory and excitatory neurotransmitters.
3+2=5
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c) Write down any two properties of skeletal
muscle. 5
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d) How is nerve impulse conducted through
myelinated nerve fibres? 5
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3. Answer any two questions: 10x2=20
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Describe the chemical and thermal changes
during contraction of skeletal muscle. What
are the differences between red muscle and
white muscles? 7+3=10
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Describe the structure of a synapse with
labelled diagram. What do you mean by
depolarization and repolarization of a neurone?

5+3+2=10
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d)
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What is synaptic gutter? Write down the
process of synaptic transmission through the

neuromuscular junction. 2+8=10
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What is excitation-contraction coupling?

Describe the process of contraction and

relaxation of cardiac muscle. 4+6=10
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